NEFHEX (BEAR)

BE#H3—-0

I — RN EFHEX
1. METHERERER I
_= - SHI2FEE (i) SHIBHEE (R5A) SMAEE GTE)

XA ol RREANE  EEE| 288 | FR00 [ EEE | 288 | 5RO | BE@E | 258 [ FE00

BATRITAZTKE NEEFRHICRET HHEEE-
(B EEEL) EH EEE T 19 ‘ 319 16 ‘ 390 17 ‘ 420
FrLoOHE ERENAE T RHMX L #E 157 4 2,781 149 4 23818 172 4 3,870
65 LA L
PARENHIEHE EEHE 73 2 2322 83 2 2,521 94 2 3,290
hNEES gmﬂ“@%*”*&ﬁg 2 2 1 2 2 45 2 2 45
R\ B —EHmR DEEH R— S — B R BE 1 1 30 HROOF DF=HFIE 1 1 40
(5%52&'35&(%2%:»&@—%%
ELTER®) 6555 Ll L NEFIHER 1 1 27 1 1 25 1 1 40
i |RAEBSFvoF A |— R “'%]‘%”E?IJ IDBRE & - 2,524 & — 3,200 B — 3,200
IiE
ﬁ%‘ﬁ 2T TTITHHE RIS e i 1 39 1 1 40 1 1 40
HATEES fEREEESE 4 4 103 6 6 200 BE el el
25 —fgth REA
?@%Hﬁﬁﬁ—&—%ﬁiéﬁ HE-JIL—TI—H% 3 3 83 4 4 130 BE elis elis
EE
2N E TR IEEE
: -~ . SHI2EE (i) SHISERE (FIA) SHAEE (FHHE)

Lo S 3 L FEE) | 2B [ TR0 | @ | 258 | 5A00 | BR@E) | 258 | FE00
WZFEWOIEE 65k LLE FRIFAROMIEESHE 652 19 10,891 860 23 14,650 1274 26 26,000
WCEWWHHEXIE 65 Ll £ AABIE-BEEERESE 22 19 356 23 23 388 26 26 580
BESYY—5 —2is BRI —4F— Erﬁu:;glj)%&b@ﬁﬂé 2 1 24 2 2 25 2 2 30

=E =55 i

1R=



3. UNEYT—La BRXEEE

= — AT ) SRR (ER) STAEEGIE) ]
XA R A X N R EEE | 288 | 2800 | BB | 288 | 50 | BB | 268 | 8800
S T B M CEHL TS | ETF oo TS : ] .
(B ) e R e o Ny
[EFHTTIAINT \mvm mgngs 7RSI - - : _ _ 60
ERIBAS 7 EBE |[BECEBLTND | NETFHIoTH
e el et Nty 3 3 120 40 10 800
OI. Hi&FH-E£FXIEY—EREE
1. E185@mY—ER
- = I AEAET ) S IRETAGN) TG
XA ol X ANE ERE | 268 [zrEu BRE | 258 [ 2RO | 8@ | 2868 [ 9500
ELITRRTVITH—ER  H S B . 1 664 - - 1 720
- ErE2 o oamano |SI—E2 &Yz &2
\ IEODEMULTZEZED | ) a0 m; 1 A30EZ 1 A30E3Z
=rFERYNEYH—ER * ERBEOTAY—ER = 3 1657 Bl 3 1662 i 3 2,400
2. B1EFHHY—ER
\ = = ST AR (R e IRETAGRS) T AGED)
XA il X ANE ERE | 268 | 2000 | BE@E | 2568 [ 2RO | 8@ | 2868 [ FE00
=LTREHHR—FH—ER §§%T§i§ %%i%(ﬁgiﬁ)gﬁ 673 — 15 853 — 20 1044 — 25
M. SfENZIEEE
1. EFEAFIREEE
- — S Y AE T STGEE (B STIAEE (5@
XA & & RERNE  Egm | 25 | 2800 [ B5@ | 288 | 2200 | BB@) | 288 | 5800
& LT RESHR— AR — R LEXRSMRNER - - 3 - - 8 2 : 40

KZEFLEICDVDEH, LR—MRHIZTE

T

2 "=

XRZEFLEICDVDEH. LIR—MEHICTIET



